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Solved by 'Math made Simple'. In person / live streaming tuition. HP: 98280997

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
- |Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the

Optical Answer Sheet. (20 marks)
1. There were 854 973 visitors to the Universal Studio last year. Express this
number to the nearest thousand.
(1) 854000 | L G4 2 PSS 000D
(2) 850000 - |
(3) 855000 L3>
(4) 860 000
2. . 3 _ 6
Find the value of 253
| )
(1) = B3N ,,‘yxi_i
B S T T A
(2) 7 TN
8
. a |} !
(3) 1 S
7 - s
e ()
(4) e
9
3. Express 1.7 as a percentage.
. Ny inaY/ — >/
(1) 0.017% |3 X004 [T /o
(2) 017 %
(3) 17% __—

(4) 170% ( 4 )
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4, Which two lines in the square grid below are perpendicular to each other?

A D // N c
\\ N
’ y
S
NI
F \ E
B
(1) BC and FG ( |
(2)  BCandDE %)
{3) ABandBC
(4) ABandFG \
5. Arrange the following distances from the shortest to the longest.
6Zkm  6km66m 6.6 km ‘J
b bbbl  =6.06b fu
3 - | 2

Shortest Longest

(1) 6km66m 62km 6.6 km
I 2 2'5

(2)  6km66m 6.6 km 62km
(3)  63km 6.6 kn 6km 66 m
(4) 66km 6 km 66 m 62km

(>)
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6. Which of the followfng is most likely to be the mass of a can of coke?
(1) 3509
(2) 350kg ( [ )
(3) 38g i
(4) 35kg
7. The figure below shows Nuruh standing in a square field. She was facing

South at first. She tben turned anti-clockwise to face Point A of the field. How
many degrees did she turn in the anti-clockwise direction?

A8 ¢
. N
H D _{_ A
' \

G : 3 o i
(1): 185° 190+ 45 = 224
(2) 180°
(3) 225° (%3
(4). 270°

8+
Find the value of —52 +p whenp=4.

(M8 | 8P o = Bt¥ g
i ==
@ 8 2
2
(3 10 :fl.?*ur
@ 20 = bt

AT (3)
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9. In the figure, AB and CD are straight lines. Which one of the following
statements is true? -

(1) <a=<c _ ,
(-2) Le=/b . | k%)
(3) 4a=sc+zd

(4) Le=,sb+se (\J@H[{@Mg DWWQ amsbaO

10. Alan has a weekly allowance of $y. He saves $5 and spends the rest of his
allowance in 6 days. What is the average amount of money he spends a
day? Leave your answer in ferms of y.

(s (42
| =)

(2) gz

(3)  $(28)

(2)

(4)  $(2)
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The table below shows the charges for renting a bicycle on a weekend.

11.

12.

Renting Charges Per Bicycle
For the first hour $8.00
For every additional hour $6.00
*Rent 3 hours and get the next 1 hour free

Mr Lim rented two bicycles from 1100 to 1500 on Sunday. How much did he
pay altogether for renting the bicycles?

(1)
(2)
(3)
(4)

1lod 4o [£20— & houny

$20 lgt e —> $8.00

$26 Yad 4+ 2ed ours —» $6,00 k2 =¢(2
Y e hawers TR ,

340 3 N

$52 §r0x 2 = fro (3

A square piece of paper was folded along the dotted line as shown below.

Find £h.
/‘<‘ Secwamssmatnl
(g -4} Ly = o’
(1) 20° /i =180 = (0« )
(2) 30° = :l o)
(3) 50 C [>
(4) 70°
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13.

14.

15.

The price of a concert ticket was $120. There was an early bird discount of
25% and students were given a further discount of $12. How much did one

- early bird discount student’s ticket cost?

(1) 10070 = F1

(2) $81 VS EJ?SH?

$ivo—§20 =90 '
(3)  $%0 s95-%02 =438 ()
(4) $108 -

There were some boys and girls in the school hall. An equal number of

1 4
boys and girls wear spectacles. Y of the girls and 7 of the boys do not

- wear spectacles. What fraction of the children wears spectacles?

. (1)

7 §P€ ¢ "
= . 0 - bt 4= G
\ “ W
® & T b4 443 = (3
(3) & - <o Lo
13 6 T w24 | S-SR
® 1 ENEY
13

Leticia had two square boxes of different sizes. Each side of the bigger
box is 2 times as long-as each side of the smaller: box. Leticia can pack
exactly 64 1-cm cubes into the smaller box. How many 1-cm cubes can

she pack exactly info the bigger box? / | |
(1) 128 D\ / @

' u ~ x4x &
(2) 192 T 6
u=Fem
(3) 256 ';\A:S‘ow\
(4) 512 (%> $xgxd =5 [

- Endof Booklet A -



RIVER VALLEY PRIMARY SCHOOL

CONTINUAL ASSESSMENT 1
2019
MATHEMATICS
PRIMARY SIX
Name (
Class :Primary 6 ( )

Date : 1 March 2019

Duration : 60 min (Total time for Booklets A and B)

PAPER 1
(BOOKLET B) .

INSTRUCTIONSTO CANDIDATES

A

Write your Name, Register No. and Class in the space above.
Do not turn over this page until you are told to do so.

Follow all instructions carefully.

Answer all questions.

You are not allowed to use a calculator.

SUMMARY OEMARKS

| Booklet B SAQ 16-30

25

SAQ 1-5

10

Parent’s Signature :







Solved by 'Math made Simple'. In person / live streaming tuition. HP: 98280997
Questions 16 to 20 carry 1 mark each. Write your answers in the spaces | Do not write

provided. For questions which require units, give your answers in the i this space
units stated. (5 marks)
16. _. .3 _ : :
Find i 15. Leave your énswer in the simplest form.
: >
3 . oE L
- < - [S S Jg 3 ?_L
- ﬂ—i— Ans: >5
x5
17. Find the average of 14, 25 and 36.
$+)ys+36 =15
Iy = US
Ans: }S

18. In the figure below, AB and CD are parallel lines and ZAFE = 58°.
Find £ FGD.

= F & Oppos o )
JBE 6= é_g A C\/Mm@% pros e %?@)

_ ~ % (‘SW‘.\ aT a»fULs bt dor ' X
LE6Dh= 8/0 8 o T)M ”]C ?WGJ/LJ\ Les s lg’oﬁ)

=t}.?,

Ans: 111, °
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Do not write
19. in this space

Express % as a decimal.
9.0 15

§).000 |
)
f{‘iﬂ Ans: _ O‘B:'{

20 Complete the symmetric figure below with XY as the line of
symmetry.

X

~
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Questions 21 to 30 carry 2 marks each. Show your working clearly and | Do not write
write your answers in the-spaces provided. For questions which require | I this space
units, give your answers in the units stated. (20 marks)

21. The average of a set of three different 2-digit numbers is 32. Find the
largest possible number in the set.

Totad = 32X
=R A

[ ]o) [T1T]

fo('{o-i-[i}-“'%’ . ?5

22. Pansy baked some cookies. If she gives each of her friends 6
cookies she will have no remainder. If she gives each of them 4
cookies instead, she will have 24 cookies left. How many cookies
did Pansy bake?

(- 6, 2,13 ,'2%',30{%,%5%/%{60!46!
(‘(’ L > ! gl'/ ’2’(91' L(’O/ L(-k(-: L.fg‘fg_l/ﬂ?f éof 6@,%%’,@

(4 04)

1L

Ans

23. It takes 90 minutes to fill a container compietely with water. What
fraction of the container will be filled with water in 1 hour? Give your

answer in the simplest form.
LY 2

v 4y 5

Ans: }‘
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24. The figure below is made up of 3 similar squares, each of side Do not
16 om. What is the area of the shaded triangle? write in this
. 16 cm -
[(",Cu\z\
. ded AAomcle = L ZLxit
Frrea o’f shaded ) [}ZY'%‘
=|L§ e~
Ans__ 128 o

25. A box contains beads of three different colours. s of them are blue.

The ratio of the number of green beads to that of the red beadsis |
4 : 3. What is the ratio of the number of blue beads to the number of

red beads? B G : £

_

€= N1 Ans:[kl;:gT

26. Alihad 3 times as much money as Nathan at first. After Ali spent $30
and Nathan received $48 from his mother, both boys had the same
amount of money. How much money did Nathan have in the end?

L T T v

N
b st =§}Sg'§533 Ans: $ 37
39448 = $3F

10
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27. The ratio of the length to the breadth of a rectangle is 8 : 3. What fraction | Do not
of the perimeter of the rectangle is the length of the rectangle? Give | Wiite inthis

your answer in the simplest form. Space
L
g 13 (| X"Q,:?,l/
lf—gt:( = é':— .
Ans: Ll

28. The line graph below shows the number of stickers Hilary has at the
beginning of each month from January to April.

100
2.0
% RN -
L /ﬁ L/ﬁ
& - 7 7
L ¥y / yd
bt O N 74 =
Number of = /““‘“}, Z
stickers 40 f—,} P
30 2
20
10
0
Janusary February March At :

What was Hilary’s average increase in the number of stlckers per
month from January to April?

04>0430 =60

zoo
—— = >0
K

pns 0 STk

11



Solved by 'Math made Simple'. HP: 98280997 In person / live streaming tuition.

29. In the square grid below, PQ and QR form two sides of the | Donotvrite
parallelogram PQRS. Complete the drawing of the parallelogram | in this space
PQRS.

PK- — W

10

30. Anumber has 15 as a factor.

Each statement below is either true, false or not possible to tell from
the information given. For each statement, put a (¥) in the correct

column.
. Not
Statement True False |{ possible
to tell
‘a) The number is a multiple of 3. \/
b) The numberis an even numbe_r. o /
Vv
30 (edon)
4 5( odd)

- End of Booklet B -
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Questions 1 fo 5 carry 2 marks each. Show your working clearly and
write your answers in the spaces provided. . For questions which require
units, give your answers in the units stated.. . (10 marks)

1.  The Primary 6 teachers and pupils from Everest Primary School
went on a leaming joumney. For every 38 pupils, there were 2
teachers with them. There were 216 more pupils than feachers. How
many pupils went on the learning joumey? '

Dif’(@mm_ = 38 ~ D3 (ewe/r»d 45mwr)

= 56 \
dbL 36 =6 - (b gmups)
3EX6 =228

Ans: _ 21% ?”Ptlig

Do not write
in this space

2.  There were 32 cars and 3y moforcycles in a carpark.

(a) How many wheels are there altogether? Give your answer in
terms of y.

(b) Ify = 8, how many wheels are there altogether?
(A) XY T IYX 2 =28 A b9) whauls

U‘-’)) 1_( %:8;'
'\—1%%6&()}: ]),8--\-6“)(8

Ans: (a) D%*()&g -
@) |7 b Lheels




The average temperature in January 2018 was 28°C. The average | Do rotwrite
temperature in February 2018 was 32°C. Find the percentage | ™ tis space
increase in the average temperature of the two months. Give your
answer to the nearest two decimal places.

. r . Lr Q
mefag}l NCreadl = ‘;@M‘JU/D

~ 1%.29 A

Ans: “ﬁlﬂ %

Four friends shared the cost of a birthday gift equally. When
calculating the amount for each share, one of the friends made a
mistake by dividing the cost of the gift by 3 instead of 4. Each friend
ended up paying $2.80 more than the correct share. What should be
the correct amount of each share?

$2.30x ¢ = FU0

| weh = €120
3 ods = 4ilo X}
= ¢ %53.b0

$35.60~ 4 = £3.90

8,%




5.

At a fruit stall, 1 watermelon and 5 apples cost $10. Elsa paid $14.90
for 1 watermelon and 12 apples. How much did one apple cost?

| wadermelon and 12 applas — 1490

[ Woj-@rﬂ'\b[,/@v'\ ) Sfﬁvﬁ)\%——% % 1000

ttes e~ - .
D{{ﬁzﬁrw — S apples —> % [4.40—%(0.00

?&ﬂ,w —> 4490
| apple — 070

Do not write
in this space
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For questions 6 to 17, show your working clearly and write your Do not write
answers in the spaces provided. The number of marks available is in this space
shown in brackets] ] at the end of each question or part-question.

{45 marks)

6. Lestie spent $750 of his monthly salary on food. He spent > of his

remaining safary on transport. After that, he had 3 of his salary left.

How muqi::}c;fb his salary did he spend on transport‘7
PGy G (5 wniks = B75T

/‘\M
S S R | wood =415D

3 .
9 Fdremeider 3wt = 545D
-rqmmfu_w VRVONET i S
(s WA (Tf@nfrrvi‘)

5 &f S*’Lt«_r\g—%‘ of Femanndos — & uny
.}-'ar Sal.a_/\\a (2 e~

Tegnng w’r~—>3 61) mwha;w’b/\ns L $457 (3m)

7. Lamp posts were instalied along a new stretch of straight road. There
was a distance of 25 m between every two lamp posts. Each lamp post
cost $55. How much did it cost to install all the lamp posts on a stretch

of road measuring 3.2 km?

éc»f
25m
<>
*——@
lamp 2lamp
past post
< 32km "
_ 3.2k
Muuv\bex( G‘E 8@{?5 - 75 m
— 3300 M
=l :
s (=129

Ttd Gt =29 xbss
= $3 09% ans:_ F101S (3m)
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8. Inthe figure, ABCD is a parallelogram. ZBAD = 104° and £ZABD = 29°. | Do not write
. in this space

Find (a) 2BCD

(b) 2CBD

(Q) Z@CD = LBAD (UW‘Q‘QIT:E @wﬁ(ﬁf Y M@U}m>

= (0%
k(D) LA@C = /9‘0:""1(0%’0
=75
ZC[}D = :f’éaﬂ- l?o
= LP:)'U

Ans: (a) (0% {1m)

o F1 em
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9. The bar graph below shows the number of packet drinks sold on Do not write
Monday. The bar that shows the number of soft drinks sold has not | " s space

been drawn.
i 7
i 60 S5
Fi
—
so ul A’J FANy,
z T
YA /f 4
40 5 L
Number
of packet 30 v
drinks sold L. —
20 — i
—
Vi
10 - ri
7
P 77—
isotanic Yoghurt Soft drinks Hot heverage

(a) How many more packets of hot beverage were sold than
Isotonic drink?

(b) 35% of &ll the drinks sold were soft drinks. In the graph
above, draw the bar to show the number of packets of soft
drinks sold

(~) C%Lt;)gz :_QL,
(by 2BHILTHE = lo¢
100/ -3l =657,

65' [, —> O;{/
Ch— 2
vl > ki =gt
’ Ans: (a) 6 (1m)
YA om)
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10. Mrs Leong needs to tie 160 parcels with string. Each parcel requires
40 cm of string. The string is sold in rolls of 15 m each. What is the

least number of rolls of string that Mrs Leong needs to buy to tie 160
parcels?

Nowm'oe EMLJA oach U 04]9 st
df Can e = (500 Ce:j
=35s
ST
N omabes rolAs HYW\/QO{: [50—}3%
rr ~ S pl

Do not write
in this space

Ans : 5 ITJud (3m)
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11. The figure VWXZ below is not drawn to scale. YZ =6 cm and Pomni:twﬁte
3 : in this space

VX =10 cm.YZ=Z of VW. The area of Triangle WXZ is 18 cm2 ‘
Find the area of the shaded Triangle VWX.

X R R R R YY)




12.

7 1
A container was filled with -lofwateratﬁrst —-l of the water was
used and the remaining water was poured into botﬂes each with a
capacity of -

(a) How many such bottles were filled at most?

(b) How much water was left? Give your answer as a fraction in
its simpl%t form.

(f\) :,._)'i Q__. ’“2_Q

Do not write
in this space




13. Mr Bond eams a commission of $2 500 for every car he sold. For .
every 10 cars sold, he received an additional bonus of $3 000. In the %mgt:;g‘;
first 6 months of 2018, he eamed a total of $127 000. How many cars

did Mr Bond sell in the first 6 months of 20187
|D wrs — $2500% (0t $2000 =$28000

£ 27 ooo < 28000 =4 R[S00D
45000+ 2600 = 6
L1046 =46

10
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14. Weiling took part in a Mathematics quiz which consist of 60 | Do notwrite
questions. For every correct answer, 3 marks would be awarded. For | '™ this space
every wrong answer, 2 marks would be deducted. Weiling answered
all the questions and .scored a total of 140 marks for the quiz. How
many questions did she answer correctly?

fox 3= (8D

| 30— |0 = ¢
vty =&
go+< 78
b0~ g= €L

(4m)

11
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15. |

, 1 Do not writ
Siti had $285 more than Bala at first. After Siti spent 3 of her ; M‘:& spaﬁ;’e

: . '3 )
money and Bala spent n of his money, the amount of money that

Siti had left was $330 more than the amount that Bala had left.
How much money did Bala have at first?

2835
s pEATIT G
& @j'/ {190
>8S><¢§—.-——Iﬁ’0
J0 140 = XD
i = (0
.\ lwm"ﬂ?'g
o o ZRERL
~ 356

Ans: $§§6 (4m)

12
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16. The usual price of a coffee machine sold in store A was $144. This | Do not wiite
was 96% of the usual price of an identical coffee machine sold in | ™ s space
Store B. Both stores gave the same percentage discount on a coffee
machine during-a sale. During the sale, the coffee machine in Store
B cost $112.50 after the discount. '

(a) What was the usual price of the coffee machine in Store B?

(b) What was the discount given for the coffee machine in Store A
during the sale?

(&Y Gb% —> ¥
\ g A
oo, — At 0B 5D

Xy
b 501250 . gporf, = _Bifj—o/

7, Lo

Y VARG A dices k)

, l
A »><
e x o T b
X

Ans: (a) Fis0 (2m)

®)_ 5265 3m)

13
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1 Do not write
17. "Sally and Bemice were baking cookies for sale. ;of Sally’s cookies lntinlgsspace

1
was 16 more than ZOf Bermnice’s cookies. The next day, Sally baked
1
more cookies and her total number of cookies increased by 3

Bemice's family ate-:-of the cookies that Bemice baked. In the end,

Sally had 82 more cookies than Bemice. How many cookies did both
- girls have altogether in the end?

S ] i PU+6XY = 2utd T
| ) wm = =6t =18

1y IM” | lw :'*df
VAN L{wfe,xw‘w%wgq
0 wha~ (W=9
(4 butby =6 x‘.?}fr{;‘ic
U8

o 19

- EndofPaper2 -

14
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MATH
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Q3 Q4 Q5

PAPER 1 BOOKLET B

Q1 Q2 | Q6 Q7 Q8 Q9 Q10
3 2 4 3 2 1 3 3 4 2
Q11 [ Q2 [ Q13 [ Q14 | Q15
3 1 1 3 4

Qe) (3.1 _3,1 1
5 1 5 15 25
Q17) |14+ 25 =39
39+36=75
75+3=25
Q18) | < EFB = 180° — 58° = 122°

< BFG = 180° — 122° = 58°
< BFG = FGC = 58°
< FGD = 180° — 58° = 122°

Q19)

3x125 __ 375

8x125 1000

=0.375

Q20)

Ay
E“_!
N,

\

‘\
"y,
; A
LY
LY

/|

Po1




Q21) [32x3 =96
110+11=21
96-21=75

Q22) |12x6=72

Q23)
+3 90min - g
30min-— %c
X2 - 60min—~>§c

Q24) %x 16 X 16 = 128cm?

Q25) B:G: R
X7 2 :(3u) -
4 : 3x3
14 : 12 : 9 a Ans:14:9

Q26) | 2u — 48 + 30 = 78
1u—>78+2 =39

39 + 48 = $87
22+2 11
8 : 3 : 11x2
Q28) | 85-25=60
60=+3=20
Q29)

Q30) | a)True
| b)Not possible to tell




PAPER 2

Q1) |38-2=36
216+36=6
38 x 6 = 228

Q2) |a)cars - 32 x4 =128
motorc —» 3y X 2 = 6y
128 + 6y

b)128 + (6 X 8) = 128 + 48 = 176

Q3) |32-28=4
218 x 100 ~ 14.29%

Q4) |2.80X4=11.20
1u—11.20

3u—11.20 x 3 = 33.60
33.60 + 4 = $8.40

Q5) | 1w +5a— $10

1w + 124 - $14.90
7a— 14.90 — 10 = 4.90
1a - 4.90 + 7 = $0.70

Q6) §_§=§ 8u-—3u=5u
X2 4u —>§ 5u — 750
8u -2 1u - 750 + 5 = 150
150 x 3 = $450

Q7) | 3.2km = 3200m
3200m + 25m = 128m
128 +1 =129

129 x 55 = $7095

Q8) |a)< BAD = BCD = 104°

b)< ADB = 180° — 104° — 29° = 47°
< ADC = 47° + 29° = 76°
< CBD =76°— 29°=47°

Qo) |a)44-38=6
b)100% - 35% = 65%
38 + 22 + 44 =104

. 65% - 104

35%-—)-1;)05—4x35=56

P33




Q10) | 1500 = 40 = 37.5

1 roll has 37 pieces
160 = 37 = 4R12
4+1=5

Q11) [3u— 6
4u->3Ix4=8

1 —
-2'X18—-9

1 —
EX6X3_9

§><8><6=2'4cm2

Q12) |5l L

Q13) { 1 car —» 2500

10 cars —. 2500 x 10 = 25000
25000 + 3000 = 28000
127000 + 28000 = 4R $15000
4x10=40

15000 + 2500 = 6

40 + 6 =46 .

Q14) | 52

4

— 3——
= =

i
37 12
2x285=95
285 ~-95=190
8u+190=3u+ 330
8u-3u=330-190
5u =140
1u=140+5=28
12u =12 x 28 = $336

Q15)

Q16) | a) Store A Store B

100% — 144 96% - 144

100% - 1%‘* x 100

Ans : $150




b) Store A
100% — 144

144
25% TR 25

Ans =$36

Store B

100% — 150

150 — 112.50 = 37.50
25% — 150 = 4 = 37.50

75% — 37.50 x 3 = 112.50
100% - 75% = 25% (discount)

Q17)

= 3u+48 (S)

-;; - 1u + 16(Increased)

3u+48 +1u+16 =4u + 64

X4 =2u (B left)

4u + 64 -2u=2u +64

2u + 64 - 82
2u- 82-64=18
6u - 12—8><6=54
54 + 64 = 118

Poq







